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X219 challenged 37am2 29 — 7M1 29 K29 79290

OVERVIEW

X297 challenged the ruling of 1" that 17°2n 3P X% 170202 AKX 7230 from a
Xn>13; indicating that X271 maintains 17°27 71P 17°202 AR°%7 72237, Our MdDOIN
will explain that this is not necessarily so.

mMooIN anticipates a question:
—99%a0 NP RY 9207 YRWN NNPN 92 9997 NPT XA INT (x,nqm DO¥9T 2) DY 9N

Even though previously 829 rejected the inference of 1''29 (from our
m1wn) that 1°an 73p 177 aR°En 772" indicating that X171 maintains that
Y992m 7739 RY, so why is X2 challenging 21"~ here who (also) maintains 17°27 73p X9?

mooIn responds:
$12M3 291 5N NYAP NNY

Perhaps %29 accepted the ruling that Y1an 7P &9, from 2"9 in their
discussion here, and therefore at a later date X327 disagreed with r""an.

SUMMARY

X2 initially maintained that 17°217 71p 177277 Ax°xn 722w, However, he was
convinced by 1" that the ruling is 17°21 71 X2; which led him to challenge
n'"27 who maintained 17°217 73p.

THINKING IT OVER

Why does mpoin assume that initially %27 held 17°2m 73p and later changed
his mind that yan 73p X? (and the episode with 1" preceded the one with
n'"27), perhaps it is the opposite; originally X297 maintained 17°2n 73p X% and
then changed his mind that 17°217 71p (and the episode with 1127 preceded the
one with 1"1)?!°

! %21 differentiated there between the case of the 71wn (of 0°1» Daw 12) where it is a case of WIS 17 WA
(5¥192) then it is also 73°72n "1 °27, and the case of 17°2n% IX°X¥» 7237 where it is a case of 27 w2 *RT 1
7wolb, which is not 71p.

? 1t is difficult to say that when he asked the question, X271 agreed with 1"1 that 11°an 3P X9; he was merely
pointing out a difficulty from the xn»13; for if that is the case it should not have said 1"1% X371 2°n»
(indicating that the question is [only] on 1"9) but rather just X237 2°nn.

? See min nuan.
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